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esI - ‘A’ : esos

aÆo` : 01 Y™ 05 Y∞E ]~ Cx∞Yj p~T ukG~ a§j≠~ `y} a[≠ E~ u]Cx :

ugkGs un|K uB∞E msjv uB∞E ]¨[ um∞M B~̀ s Y~P ]¨u[At uE Cxn ]s `t Cx∞UXs un∞G a§ uIAs*Cxn]s asuEnYs`v
a|Osd ]~ uOk≠~ gx∞ObjI[≠ ]~ ua|U I®ud|]axjs um∞M p®uBAs nv*n|̀  1947 ]v m|U ]¨js` Cxn]~ gsa~ gsj~ IB~ AY~
Cxp nj`sj\v E¶at um∞M u]∞kv ax∞O uIAs*1953 um∞M Cxp esjYv p® uIAs* AsnSÆ~kvAs ]~ g§kd¨j` um∞M p®BvAs
1956 ]vAs Cxk|uaE G~Ut um∞M Cxn °̀ aupkv msj esI ukAs aj uO∞Y `s aÆsaY p® nEv* n|̀  1958 um∞M Oas`
]v jsO_s`v S®EvD umG~ YvOvAt B~ovAsBv G~Ut um∞M Cxn °̀ ne ỳ} aNs[ u]∞Ys AY~ ne Y™ YE[s ]¨[sE dX uIAs*

1. ugkGs un|K ]s O`g uE∞\~ p®uBAs ?

(1) M|UvI[ (2) g®pskv (3) gx∞Pbj`Ij (4) I®ud|]axjs

2. ugkGs un|K ]~ gsa~ E]™ gsj~ IB~ n` ?

(1) n|̀  1929 (2) n|̀  1947 (3) n|̀  1953 (4) n|̀  1963

3. ugkGs un|K uEp[~ n|̀  um∞M esjYv (AsPs] esjY)`sIujE duXAs ?

(1) n|̀  1929 (2) n|̀  1947 (3) n|̀  1948 (4) n|̀  1953

4. ugkGs un|K °̀ aupkv msj uEn ]~o um∞M Cxk|uaE G~Ut um∞M esI ukAs nv ?

(1) asuEnYs` (2) esjY (3) AsnSÆ~kvAs (4) Oas`

5. ugkGs un|K S®EvD um∞M n|̀  1958 um∞M uEn gEn] kBv uIAs nv ?

(1) Kx|gX-ubj` kBv (2) gsuaAt ]v g¨Y ]s d]ks k§X kBv

(3) B~ovAsBv G~Ut kBv (4) Cxk|uaE G~Ut kBv
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6. p~T ukuGAt um∞M uEp[s IxjgxGv ukav ]s kIsGj `pw p§ ?

(1) ud|]v (2) uS∞av (3) A∞_E (4) E|̀ s

7. a|Osdv mjX-gsks ]s `sg aupkt "a¶Yw' uECxr j∞uGAs nv ?

(1) IxjgxGv Y™ Ak∞I ]jnsCxX kBv

(2) ]~m`sIjv Y™ Ak∞I ]jnsCxX kBv

(3) A|Ij~Pv Y™ Ak∞I ]jnsCxX kBv

(4) Ex∞k A∞Gjt ]v uIXYv a¶Yv p®X Esj`

8. "Cxp dpxY Cx]sn p§' um∞M Cx]sn Ev p§ ?

(1) Asg `tm (2) Gsn `tm (3) mnYy-msME (4) esm-msME

9. a[`tm uE|̀ v uEng ]~ px|]~ p` ?

(1) 4 (2) 5 (3) 6 (4) 8

10. p~T ukG~ umEkat um∞M™ ox∞_ od] O®[ uEp[s p§ ?

(1) •̀pjy (2) °̀pjy (3) `upjy (4) •̀Ajy

11. nYkxO AY~ udAsn ]ujAsmt umMEsj uEp[v-uEp[v d®kv ]v mjY™ px|]v p§ ?

(1) gsQv (2) ]xAsdv (3) gkmBv (4) axAsBv

12. A|ugÆYnj AY~ aTs`E®S uOukAt um∞M uEp[v Cx∞a d®kv aÆMukY p§ ?

(1) gkmBv (2) ]xAsdv (3) a®T©psjv (4) gsQv
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13. p~T ukG~ msEt um∞M™ nEjgE uEujAs msks msE MxX© :

(1) gwp a§ ujps p§ (2) a|Nv Cx∞U]~ p`

(3) Ysj~ MgEj jp~ p` (4) Ex[vAt uE∞Ekv asj jpvAt p`*

14. kIt AY~ kIsGj umAsEj` ]~ uEn A|I ]s up∞ns p` ?

(1) od] d®_ (2) msE d®_ (3) Aj\ d®_ (4) mjY d®_

15. ‘Emv’ od] ]s npv uBnYjv uk|I MxX©*

(1) EumYjv (2) EmvYs (3) EudYs (4) k~uGEs

16. IxjgxGv ukav um∞M __________ A x̀̀ soE A∞Gj uE|̀ ° p`*

(1) ]® (2) Msj (3) a|O (4) n∞Y

17. p~Tt ukuGAt umEkat um∞M™ ox∞_ od] uEp[s p§ ?

(1) MgE]sj (2) MgEs]sj (3) M∞gEs]sj (4) M∞gE]tj

18. AGsX ayjv Ej®

‘‘g∞Nv __________ ỳ} M∞S E~ gx[]v p§’’*

(1) asXv (2) a∞\j (3) OpsP (4) ngx|]j

19. Cxp \t uO∞\~ umAsp ]v djsY Tupj]v p§ :

(1) ntQs Kj (2) m∞Us Kj (3) O|P Kj (4) m_sBv Kj
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20. ‘ox∞_’ od] ]s umj®_v od] Ev p®m~It ?

(1) Ankv (2) Aox∞_ (3) axjsXs (4) Gskn

21. ‘‘a|UY” od] ]s npv dpx-mM` MxX©*

(1) a|U~ (2) a|uUAs (3) a|UYt (4) a|UY¢

22. p~T ukuGAt um∞M™ uEp[s umEka “dsay” ]s ngs`sj\E `pw p§ :

(1) uaCx (2) dsa (3) uaYs (4) aYv

23. p~T ukuGAt um∞M™ “EtS® bx∞kt Cx∞Y~” ]s npv Aj\ uEp[s p§ ?

(1) dsIds`v Ej`s (2) uncYt Ej`s

(3) bx∞kt ]v jsGv Ej`s (4) Yj∞Ev AY~ g¨Pt Ej`s

24. “nxM∞Ov AY~ unAsXv Ex[v” ]~ kBv uB∞E od] uEp[s p§ ?

(1) gxuSAsj (2) jEs` (3) askv (4) _tE

25. p~T ukuGAt um∞M™ “O[≠t E∞SXs” gxpsmj~ ]s npv Aj\ uEp[s p§ ?

(1) bnk ]v ESsBv

(2) ]jGYt ]v ESsBv

(3) nsb nbsBv ]s u_As` j∞GXs

(4) uEn~ ]s x̀Ens`/GsYgt Ej`s
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SECTION – ‘B’ : MATHEMATICS

26. Which one of the following are arranged in descending order ?

(1)
2 2 2 2

, , , ,
5 7 13 9 3

2
(2)

6 14 10 4 2
, , , ,

11 11 11 11 11

(3)
7 7 7 7 7

, , , ,
6 8 12 15 18

(4)
10 13 5 15 7

, , , ,
9 9 9 9 9

27. Which of the following numerals are arranged in ascending order ?

(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907

(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764

28. What would be the price of seven chairs, if the price of one chair is ` 7642.45 ?

(1) ` 53497.35 (2) ` 53497.15 (3) ` 53499.15 (4) ` 53597.15

29. Fill in the blank with the correct option.

CCCXC + LIX = _______.

(1) CCCCXLIX (2) CDXLIX (3) CDCXLIX (4) CDXXXXIX

30. A dealer purchased 50 tables for ` 4570 each. Nine tables got damaged in transit. He sold the

remaining tables for ` 5000 each. Choose the most appropriate statement for this case ?

(1) He was able to recover the cost of the damaged tables.

(2) He made a profit of ` 25000.

(3) He incurred a loss of ` 23500.

(4) He made a profit of ` 23500.

31. Which one of the following options is incorrect ?

(1)
2

0.4
5

= (2) 1.147 > 1.039 (3) 5.862 < 5.9 (4) 3.21 > 3.222

32. I am a five-digit even number. I have 9 at my tens place. The digit at the ten thousands place

is three less than the digit at the tens place. The digit at the hundreds place is half the value

of the digit at the ten thousand place. The digit at the thousand place is double the digit at the

ones place. Who am I ?

(1) 68494 (2) 61392 (3) 64391 (4) 68394
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esI - ‘B’ : IuXY
26. p~Tt u]∞uYAt um∞M™ uEp[vAt uB∞E ỳ} K∞S]~ Fg um∞M ummnu\Y EvYs Ot]s p§ ?

(1)
2 2 2 2

, , , ,
5 7 13 9 3

2
(2)

6 14 10 4 2
, , , ,

11 11 11 11 11

(3)
7 7 7 7 7

, , , ,
6 8 12 15 18

(4)
10 13 5 15 7

, , , ,
9 9 9 9 9

27. p~Ts ukuGAt um∞M™ uEp[vAt n|uGAsmt ỳ} m∞_]~ Fg um∞M ummnu\Y EvYs Ot]s p§ ?

(1) 6821, 6812, 6261, 2861 (2) 9075, 7905, 9701, 5907

(3) 10529, 12049, 12509, 15249 (4) 23124, 23213, 21467, 2764

28. O~Ej uB∞E Exjnv ]v EvgY 7642.45 jxaB~ p§ Yt n∞Y ExjnvAt ]v EvgY uE|̀ v p®m~Iv ?

(1) 53497.35  jxaB~ (2) 53497.15 jxaB~ (3) 53499.15 jxaB~ (4) 53597.15 jxaB~

29. Gskv \t ỳ} npv umEka `sk ej®*
CCCXC + LIX =  _______ .

(1) CCCCXLIX (2) CDXLIX (3) CDCXLIX (4) CDXXXXIX

30. uB∞E Uvkj °̀ 4570 jxaB~ aÆYv g~P ]v ksIY `sk 50 g~P Gjv]~* 9 g~P W®As-WxAsBv um∞M Gjsd p® IB~*
Cxn °̀ dsEv dM~ g~Pt um∞M™ pj~E ỳ} 5000 jxaB~ aÆYv g~P ]v ksIY `sk m~M u]∞Ys* uBn nu\Yv kBv ne
Y™ Wx∞Emt E\` MxX© ?

(1) Cxp Gjsd p®B~ g~Pt ]v ksIY ]v mnykv Ej` um∞M nbk ujps*

(2) Cxn ỳ} 25000 jxaB~ ]s kse p®uBAs*

(3) Cxn`y} 23500 jxaB~ ]v ps`v p®Bv*

(4) Cxn ỳ} 23500 jxaB~ ]s kse p®uBAs*

31. p~Tt ukuGAt um∞M™ uEp[s umEka IkY p§ ?

(1)
2

0.4
5

= (2) 1.147 > 1.039 (3) 5.862 < 5.9 (4) 3.21 > 3.222

32. g¶ uB∞E a|O A|Et ]v uOnY n|uGAs pt* g~j~ ]psBv n\s` Cx∞Y~ 9 p§* ]n pPsjm¢ n\s` ]s A|E ]psBv n\s`
Cx∞Y~ AsCxX msk~ A|E Y™ uY|̀  K∞S p§* n¶E[~~ n\s` Cx∞Y~ AsCxX msks A|E ]s g~j~ ]n pPsjm¢ n\s` ]~ A|E
]~ gx∞k Y™ A∞_s p§*  pPsjm¢ n\s` Cx∞Y~ AsCxX msks A|E uBEsBv A|E ]s ]xIXs p§* g¶̀ y} aNsX© ?
(1) 68494 (2) 61392 (3) 64391 (4) 68394
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33. Which one of the following is the incorrect option ?

(1) l=19.2 cm, b=12.5 cm (2) l=16 cm, b=15 cm

(3) l=54 cm, b=5 cm (4) l=32 cm, b=7.5 cm

34. What is the side of a cube, if its volume is 64 cu.cm ?

(1) 12 cm (2) 4 cm (3) 8 cm (4) 16 cm

35. Seventy six lakh four thousand eighty three is written as _______ in the international number

system.

(1) 7,640,083 (2) 76,483 (3) 760,483 (4) 7,604,083

36. Rounding off 7348561 to the nearest hundreds is ________.

(1) 7348000 (2) 7348600 (3) 7348560 (4) 7348500

37. What must be added to 2.4624 to get 6.785 ?

(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229

38. What would be the water image of   ?

(1) (2) (3) (4)

39. Choose the smallest possible 7-digit number that you can form using each of the following

digits 5, 1, 8, 0, 3.

(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

40. The product of the LCM and HCF of two numbers is 322. If one of the numbers is 23, what
is the other ?

(1) 7 (2) 14 (3) 18 (4) 46
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33. hyTW id`qy ivcoN ikhVw ie`k glq ivklp hY ?

(1) l = 19.2 cm, b = 12.5 cm (2) l = 16 cm, b = 15 cm

(3) l = 54 cm, b = 5 cm (4) l = 32 cm, b = 7.5 cm

34. O~Ej KX ]s AsuBY` (gsYjs) 64 cu.cm p§ Yt KX ]v exOs uE|̀ v p§ ?

(1) 12 cm (2) 4 cm (3) 8 cm (4) 16 cm

35. A|YjjsoSjv n|uGAs aÆXskv um∞M N~≤pYj k∞G Msj pPsj Yjsnv ỳ} __________ mO™ ukuGAs Ot]s p§*

(1) 7,640,083 (2) 76,483 (3) 760,483 (4) 7,604,083

36. ne Y™ °̀[k~ n¶E[~ Y∞E ayjs Ej` kBv n|uGAs 7348561 `y} __________ ukuGAs Osm~Is*

(1) 7348000 (2) 7348600 (3) 7348560 (4) 7348500

37. 6.785 aÆsaY Ej` kBv 2.4624 um∞M Ev O®[`s Mspv]s p§ ?

(1) 4.321 (2) 4.3221 (3) 4.3226 (4) 4.3229

38.  ]s Ok aÆuYud|d Ev p®m~Is ?

(1) (2) (3) (4)

39. 7-A|Et ]v Cxp ne Y® N®Sv n|em n|uGAs MxX© O® uE Yxnw p~Tt  u]±Y~ pj~E A|E ]v mjY™ EjE~ dXs nE]~
p®* 5, 1, 8, 0, 3

(1) 1310058 (2) 1001358 (3) 1130058 (4) 1000358

40. ]® n|uGAsmt ]s kKxYg ngsmjYE (LCM) AY~ g∞pYg ngsmjYE (HCF) 322 p§* O~Ej Cxp`t um∞M™ uB∞E
n|uGAs 23 p§ Yt ]yOv n|uGAs Ev p§ ?

(1) 7 (2) 14 (3) 18 (4) 46
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41. Solve : 
6 3 4

8 2 5
÷ ×

(1)
3

5
(2)

3

8
(3)

5

8
(4)

2

5

42. Anil had 78.6 m fabric which was just enough to make one set of uniform for 12 students.

How much fabric would be used to make one uniform ?

(1) 6.05 m (2) 6.65 m (3) 6.55 m (4) 6.25 m

43. The area of a triangle whose base is 12 cm and the height twice the base, is __________ .

(1) 288 sq. cm (2) 144  sq. cm (3) 289 sq. cm (4) 298  sq. cm

44. An oil tank can hold 60 litres of oil. Another oil tank can hold thrice as much. What is the

total capacity of both the tanks ?

(1) 180 litres (2) 240 litres (3) 120 litres (4) 300 litres

45. 128400 pens are to be packed in cartons with 150 pens in each. How many cartons will be

needed ?

(1) 856 (2) 805 (3) 846 (4) 876

46. Which one of the following figures is not symmetrical along the dotted line ?

(1) (2) (3) (4)

47. In a particular year, 76,43,872 students appeared for an exam. Out of them if 42,37,602 were

girls, how many were boys ?

(1) 43,06,270 (2) 34,56,270 (3) 34,06,270 (4) 43,05,370

48. What should be subtracted from 3 million to get 1765498 ?

(1) 1,234,602 (2) 1,234,502 (3) 1,324,502 (4) 1,234,402

49. If the classes for the senior students start everyday at 8:35 a.m. and end at 1:45 p.m. (with no

breaks), find the total duration of the classes.

(1) 4 hours 40 minutes (2) 310 minutes

(3) 5 hours 20 minutes (4) 315 minutes
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41. p∞k Ej® : 
6 3 4

8 2 5
÷ ×

(1)
3

5
(2)

3

8
(3)

5

8
(4)

2

5

42. Ainl kol 12 ividAwrQIAW leI jo ik vrdI dw iek sYNt bxwax leI 78.6 m k`pVw kwPI sI[ ie`k
vrdI bxwaux leI ikMny k`pVy dI lOV hovygI ?
(1) 6.05 m (2) 6.65 m (3) 6.55 m (4) 6.25 m

43. Cxp uYE®X G~Yjbk uOn]s As_sj 12 cm AY~ CxMsBv As_sj Y™ ]xIXv p§, uE|̀ s p®m~Is ?

(1) 288 sq. cm (2) 144  sq. cm (3) 289 sq. cm (4) 298  sq. cm

44. Y~k ]~ uB∞E S¶E um∞M 60 kvSj Y~k As nE]s p§* Y~k ]~ uB∞E p®j S¶E um∞M uY|̀  IxXs Y~k As nE]s p§*
]®m¢ S¶Et ]v Ex∞k ngj∞\s Ev p§ ?

(1) 180 kvSj (2) 240 kvSj (3) 120 kvSj (4) 300 kvSj

45. U∞udAt um∞M 128400 a§≤` a§E EvY~ IB~ p` AY~ pj~E U∞d~ um∞M 150 a§≤` p`* uE|̀ ° U∞udAt ]v k®[ p§ ?

(1) 856 (2) 805 (3) 846 (4) 876

46. p~Tt u]∞YvAt um∞M™ uEp[s uM∞Yj ud|]y j~Gs `sk ngYv(nugSjv)um∞M `pw p§ ?

(1) (2) (3) (4)

47. uB∞E umo~o nsk um∞M 76,43,872 umu]Asj\v ]v aÆvuGAs kBv psPj p®B~* O~Ej Cxp`t um∞M™ 42,37,602

k[EvAt n` Yt k[E~ uE|̀ ° n` ?

(1) 43,06,270 (2) 34,56,270 (3) 34,06,270 (4) 43,05,370

48. n|uGAs 1765498 aÆsaY Ej` kBv 3 ugkvA` um∞M™ p~Tt u]∞uYAt um∞M™ Ev KSsCxXs Mspv]s p§ ?

(1) 1,234,602 (2) 1,234,502 (3) 1,324,502 (4) 1,234,402

49. O~Ej nv`vAj umu]Asj\vAs ]vAt Eksns pj j®P nm~j~ 8:35 mP~ oxjy px|]vAt p` AY~ ]xaupj ỳ} 1:45 mO~
(ibnw ibkrs ky) GYg px|]vAt p` Yt Eksns ]v Ex∞k ngt Am_v aYs Ej®*

(1) 4 K|S~ 40 ug|S (2) 310 ug|S (3) 5 K|S 20 ug|S (4) 315 ug|S
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50. Raman started a journey 4 hours before Sameer. If Sameer started his journey at 2:15 p.m. at

what time did Raman start his journey ?

(1) 09:15 hours (2) 11:15 hours (3) 10:15 hours (4) 14:15 hours

51. If    = 420 and   = 90, then what is the value of  ?

(1) 100 (2) 200 (3) 90 (4) 120

52. Identify the greatest fraction from the following :

2 2 2 2 2
, , , ,

11 7 13 9 3

(1)
2

11
(2)

2

9
(3)

2

7
(4)

2

3

53. Select the next figure in the pattern :

(1) (2) (3) (4)

54. Select values of m, n to make the statement true.

127 × 15 = (   m    × 15) + (   n    × 15)

(1) m = 100, n = 15 (2) m = 120, n = 15

(3) m = 15, n = 27 (4) m = 100, n = 27

55. Sum of place values of the underlined digits in the given numbers is _______.

695281       5348573

(1) 305071 (2) 300551 (3) 305017 (4) 3005071

56. What is the weight of two dozen biscuits if each biscuit weighs 4 g ?

(1) 24 g (2) 64 g (3) 48 g (4) 96 g
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50. jg` °̀ ngvj Y™ 4 K|S~ aupkt hsYjs oxjy EvYv* O~Ej ngvj °̀ ]xuapj ]~ 2:15 mO~ AsaXv hsYjs oxjy
EvYv Yt jg` °̀ uEn ng¢ AsaXv hsYjs oxjy EvYv ?

(1) 09:15 K|S~ (2) 11:15 K|S~ (3) 10:15 K|S~ (4) 14:15 K|S~

51. O~Ej    = 420 AY~  = 90 p§ Yt ]s gx∞k Ev p§ ?

(1) 100 (2) 200 (3) 90 (4) 120

52. p~Tt u]∞uYAt um∞M™ ne Y™ m∞Uv ue|̀  ]v aNsX Ej® :

2 2 2 2 2
, , , ,

11 7 13 9 3

(1)
2

11
(2)

2

9
(3)

2

7
(4)

2

3

53. a§Sj` um∞M AIk~ uM∞Yj ỳ} MxX©  :

(1) (2) (3) (4)

54. E\` ỳ} n∞M dXsCxX kBv m, n ]~ gx∞k MxX©*

127 × 15 = (   m    × 15) + (   n    × 15)

(1) m = 100, n = 15 (2) m = 120, n = 15

(3) m = 15, n = 27 (4) m = 100, n = 27

55. u]∞YvAt IBvAt n|uGAsmt um∞M j~GtuEY EvY~ IB~ A|Et ]~ n\s`E gx∞kt ]s O®[ __________ p§*

695281       5348573

(1) 305071 (2) 300551 (3) 305017 (4) 3005071

56. O~Ej pj~E udnExS ]s mO` 4 g p§ Yt ]® ]jO` udnExSt ]s mO` uE|̀ s p§ ?

(1) 24 g (2) 64 g (3) 48 g (4) 96 g
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57. How many parts of the given figure should be shaded to represent 
3

7
 ?

(1) 4 (2) 12 (3) 8 (4) 6

58. What is the fraction that the sum of the shaded regions represent ?

(1)
10

12
(2)

1

4
(3) 1 (4)

1
1

12

59. In 563672, the place value of 6 at the ten thousands place is ______ times the place value of

6 at the hundreds place.

(1) 1000 (2) 100 (3) 10 (4) 10000

60. Choose a figure that will continue the series in the given figure.

(1) (2) (3) (4)

61. Shreya has 32 red pens and 56 blue pens. She wants to make packs of equal number of pens
out of them in such a way that each pack has pens of only one colour. How many pens would

be there in the biggest pack ?

(1) 4 (2) 8 (3) 16 (4) 12

62. If the cost of fencing 1 m is ` 215, then find the cost of fencing a park with length

45 m and breadth 23 m.

(1) ` 29240 (2) ` 25340 (3) ` 29440 (4) ` 29540
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57.  
3

7
 ỳ} ]jnsCxrX kBv u]∞Y~ p®B~ uM∞Yj ]~ uE|̀ ° up∞n~ NsuBAsuFY EvY~ OsX° Mspv]~ p` ?

(1) 4 (2) 12 (3) 8 (4) 6

58. CwieAw vwly Kyqr dw joV ikhVw AMS drswauNdw hY ?

(1)
10

12
(2)

1

4
(3) 1 (4)

1
1

12

59. n|uGAs 563672, um∞M 6 ]s n\s`E gx∞k ]n pPsj 6 ]~ n\s`E gx∞k ]~ n¶E[m¢ ]s __________ IxXs
p®m~Is*

(1) 1000 (2) 100 (3) 10 (4) 10000

60. u]∞Y~ p®B~ uM∞Yj um∞M Cxp uM∞Yj O® uE k[v um∞M A∞I~ Asm~Is*

(1) (2) (3) (4)

61. oj~As E®k 32 ksk a§≤` AY~ 56 `vk~ a§≤` p`* Cxp Cxp`t um∞M™ a§≤`t ]~ a§Et ]v djsdj n|uGAs uBn YjvE~
`sk dXsCxXs Mspx|]v p§ uE pj~E a§E um∞M E~mk uB∞E pv j|I ]~ a§≤` p®X* ne Y™ m∞U~ a§E um∞M uE|̀ ° a§≤`
p®XI~ ?

(1) 4 (2) 8 (3) 16 (4) 12

62. 1 m ms[ kIsCxX ]v ksIY ` 215 p§ Yt 45 m k|d~ AY~ 23 m M¨[~ uB∞E asjE ]v ms[d|]v Ej` ]v ksIY
aYs Ej®*

(1) ` 29240 (2) ` 25340 (3) ` 29440 (4) ` 29540
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63. Convert the fraction 
1
25

15  into a decimal number.

(1) 150.4 (2) 15.04 (3) 1504 (4) 1.504

64. How many acute angles are there inside the given figure ?

(1) 4 (2) 6 (3) 5 (4) 7

65. Prisha weighs 42 kg and Kyra weighs 39.5 kg. What is their total weight ?

(1) 82500 g (2) 8250 g (3) 81500 g (4) 8150 g

66. A webinar has three intervals of 5 minutes each. What is the total duration of the intervals in

seconds ?

(1) 1000 (2) 800 (3) 900 (4) 1500

67. Which one of the following is not an equivalent fraction of 
5

7
 ?

(1)
15

21
(2)

45

56
(3)

25

35
(4)

10

14

68. An athlete finishes 400 m race in 48 seconds. How many minutes has he spent in running if

he ran five times on the same track at the same speed ?

(1) 4 (2) 3.5 (3) 5 (4) 6

69. Find the area of the shaded part of the figure.

(1) 161 sq. cm (2) 171 sq. cm (3) 173 sq. cm (4) 163 sq. cm

70. Identify the angle created by the minute hand and the hour hand at 2:30 p.m.

(1) Acute (2) Obtuse (3) Straight (4) Right
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63. ue|` 1
25

15  ỳ} ]ogkm n|uGAs um∞M Yd]vk Ej®*

(1) 150.4 (2) 15.04 (3) 1504 (4) 1.504

64. u]∞Y~ p®B~ uM∞Yj um∞M uE|̀ ° u`Cỳ  E®X p` ?

(1) 4 (2) 6 (3) 5 (4) 7

65. uaÆos ]s mO` 42 kg p§ AY~ uEAsjs ]s mO` 39.5 kg p§* Cxp`t ]s Ex∞k mO` uE|̀ s p§ ?
(1) 82500 g (2) 8250 g (3) 81500 g (4) 8150 g

66. uB∞E m§dv`sj um∞M uY|̀  A|Yjsk p` uOp`t um∞M™ pj~E 5 ug|S ]s p§* nuE|St um∞M A|Yjskt ]v Ex∞k ngt Am_v
Ev p§ ?

(1) 1000 (2) 800 (3) 900 (4) 1500

67. p~Tt u]∞uYAt um∞M™ uEp[v 
5

7
 ]~ djsdj ]v ue|̀  `pw p§ ?

(1)
15

21
(2)

45

56
(3)

25

35
(4)

10

14

68. uB∞E A\kvS 400 gvSj ]v ]¨[ ỳ} 48 nuE|St um∞M GYg Ej]s p§* O~Ej Cxp a|O msj ngs` Sj§E Cx∞Y~
ngs` IYv `sk ]¨u[As Yt ]¨[ um∞M Cxn ỳ} uE|̀ ° ug|S k∞I~ ?

(1) 4 (2) 3.5 (3) 5 (4) 6

69. uM∞Yj ]~ NsuBAsuFY up∞n~ ]s G~Yjbk aYs Ej®*

(1) 161 sq. cm (2) 171 sq. cm (3) 173 sq. cm (4) 163 sq. cm

70. ]xuapj ]~ 2:30 mO~ ug|St mskv nyBv AY~ K|uSAt mskv nyBv ]xAsjs dXsB~ IB~ E®X ]v aNsX Ej®*

(1) u`Cỳ  E®X (2) Au_E E®X (3) un∞_s E®X (4) ngE®X
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Instructions For Q. No. 71 - 75 : The following graph represents the activities taken

up by Grade V students in a particular school. Study the graph and answer the following

questions.

71. How many students were there in the 2 least popular activities ?

(1) 25 (2) 24 (3) 28 (4) 27

72. How many more students chose Swimming as compared to Debate ?

(1) 6 (2) 8 (3) 5 (4) 7

73. What is the total number of students in Grade V ?

(1) 80 (2) 83 (3) 85 (4) 84

74. The number of students who chose Painting is ______ more than the number of students who

chose Theatre.

(1) 1 (2) 2 (3) 3 (4) 4

75. How many students chose Dance ?

(1) 16 (2) 18 (3) 17 (4) 19



19 / GRAMA / PUN+ENG P.T.O.

up]suBYt aÆo` 71 - 75 Y∞E : p~Tt u]∞Ys IÆsc uEn~ umo~o nEyk um∞M Ij~U V ]~ umu]Asj\vAt ]xAsjs EvYvAt
IBvAt IYvum_vAt ỳ} ]jnsCxr]s p§* IÆsc ]s Au_A§̀  Ej® AY~ p~Tt u]∞Y~ aÆo`t ]s Cx∞Yj u]D*

71. 2 ne Y™ K∞S aÆun∞_ IYvum_vAt um∞M uE|̀ ° umu]Asj\v n` ?

(1) 25 (2) 24 (3) 28 (4) 27

72. Uvd~S ]v Yxk`s um∞M uE|̀ ° p®j uPAs]s umu]Asj\vAt °̀ Y§jsEv ỳ} MxuXAs ?

(1) 6 (2) 8 (3) 5 (4) 7

73. Ij~U V um∞M umu]Asj\vAt ]v Ex∞k n|uGAs uE|̀ v p§ ?

(1) 80 (2) 83 (3) 85 (4) 84

74. uM∞YjEsjv MxX` msk~ umu]Asj\vAt ]v n|uGAs, \vB~Sj MxX` msk~ umu]Asj\vAt ]v n|uGAs Y™ uE|̀ v uPAs]s
p§*

(1) 1 (2) 2 (3) 3 (4) 4

75. uE|̀ ° umu]Asj\vAt °̀ u Æ̀Y ỳ} MxuXAs ?

(1) 16 (2) 18 (3) 17 (4) 19
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SECTION – ‘C’ : GENERAL KNOWLEDGE

76. By what other name is the Water Cycle known as ?

(1) Water movement cycle (2) Air cycle

(3) Hydrologic cycle (4) Tectonic cycle

77. Which bacteria is responsible for the formation of curd ?

(1) Vibrio Cholerae (2) Lactobacillus Acidophillus

(3) Streptococcus thermophillus (4) Bacillus radicicola

78. Pick an example of water pollution.

(1) An oil spill from a large ship

(2) Animals walking along the beach

(3) Drinking water out of a plastic bottle

(4) Gasoline in a car

79. What is meant by seed coat ?

(1) Hard cover around the food stored

(2) Hard cover around the baby plant

(3) The protective outer coat of a seed

(4) Hard cover around the roots of the plant

80. Who was the Chief of Army during the Indo-Pak war, 1971 ?

(1) General PP Kumaramangalam (2) Field Marshal SHFJ Manekshaw

(3) General JN Chaudhari (4) General KS Thimayya

81. Which one of the following statements is true about fossil fuels ?

(1) They are renewable resources.

(2) They are found within the top layers of the Earth's crust.

(3) They are formed over the course of ten years.

(4) They are the remains of once-living organisms.
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esI - ‘C’ : Asg uIAs`

76. asXv ỳ} p®j uEn `sg `sk OsuXAs Ot]s p§ ?

(1) Ok aujmjY` M∞Ej (2) mshy M∞Ej

(3) Okv(psBvV®k®uOE) M∞Ej (4) ummjYu`E M∞Ej

77. ]pv dXsCxX kBv uEp[s d§ESvjvAt uP|g~msj p§ ?

(1) msBvdÆ® E®k~js (2) k§ES®d~nvkn A§nvU®ubukn

(3) nSÆvaS®E®En \jg®ubukn (4) d~nvkn j§UvEvE®ks

78. asXv ]~ aÆ]yoX ]v Cx]spjX kD :

(1) uB∞E m∞U~ ngx|]jv OpsO Y™ Y~k ]s uIj`s

(2) aoyAs ]s dvM(ngx|]j)]~ uE`sj~ M∞kXs

(3) aksnuSE ]v d®Ykt Y™ asXv avXs

(4) Esj um∞M I§n®kv`

79. dvO ajY Ev px|]v p§ ?

(1) nS®j EvY~ IB~ e®O` ]xAsk~ uB∞E nGY Emj

(2) N®S~ a¨]~ ]~ ]xAsk~ uB∞E nGY Emj

(3) dvO ]v dspjv nxj∞uGAs ajY

(4) a¨u]At ]vAt O[pt ]xAsk~ uB∞E nGY Emj

80. esjY-asE hx∞_, 1971 ]¨js` \k n§̀ s ]s Mvc E¨X nv ?

(1) O`jk av.av. Exgsjg|Ikg (2) bvkU gsjok A§n.A§M.A§b.O~. gs °̀EosA

(3) O`jk O~.A§∞̀ . M¨_jv (4) O`jk E~.A§≤n. \vgsuBAs

81. p~Tt u]∞uYAt um∞M™ uEp[s E\` bsunk Bv_`t dsj~ nM p§ ?

(1) Cxp `umAsCxXh®I nj®Y p`*

(2) Cxp _jYv ]v ne Y™ Cx∞ajkv ajY um∞M ugk]~ p`*

(3) Cxp ]n nskt ]v ngt Am_v um∞M uYAsj px|]~ p`*

(4) Cxp uEn~ ng¢ nOvmt aÆsXvAt ]~ Amo~o p`*
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82. Where is the famous Meenakshi Temple located ?

(1) Ujjain (2) Varanasi (3) Madurai (4) Rameswaram

83. Name the holy book of the Parsis.

(1) Bible (2) Zend Avesta (3) Quran (4) Guru Granth Sahib

84. Which Vitamin deficiency leads to bleeding of gums, slow healing of wounds and aching

limbs ?

(1) Vitamin A (2) Vitamin B (3) Vitamin C (4) Vitamin D

85. Where is the United Nations Headquarters located ?

(1) Vienna (2) New York (3) Paris (4) Zurich

86. What is the major source of fresh water in India ?

(1) Ocean water (2) River water (3) Pond water (4) Ground water

87. In which sport is the term 'Knock-Out' used ?

(1) Archery (2) Boxing (3) Golf (4) Billiards

88. Who invented electric bulb ?

(1) Thomas Alva Edison (2) Alexander Graham Bell

(3) Marie Curie (4) C. V. Raman

89. Salman Rushdie won the Booker Prize for which book ?

(1) The Satanic Verses (2) Midnight's Children

(3) Fury (4) Shalimar the Clown

90. Pick out the incorrect statement.

(1) Gravitation affects only part of the earth.

(2) Gravitation pulls iron.

(3) Gravitation prevents things from floating.

(4) Aeroplane do not fly in the gravitational field.

91. The reading above _______ on Richter scale can cause severe damage.

(1) 7 (2) 6 (3) 5 (4) 4
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82. aÆun∞_ gv`sEov g|u]j uE∞\~ nu\Y p§?

(1) CxO§̀ (2) msjsXnv (3) g]xjsBv (4) jsg~omjg

83. asjnvAt ]v aum∞Yj uEYsd ]s `sg ]∞n®*
(1) dsBvdk (2) P¶U Am~nSs (3) Exjs` (4) Ixjy IÆ|\ nsupd

84. uEp[~ umSsug` ]v Egv gnyu[At um∞M Gỳ  AsCxX, PGgt ]s p¨kv-p¨kv ej` AY~ ankvAt um∞M ]j] p®X
]s Esj` dX]v p§ ?
(1) umSsug` A (2) umSsug` B (3) umSsug` C (4) umSsug` D

85. n|hxEY jsoSj ]s gx∞G ]cYj uE∞\~ nu\Y p§ ?
(1) umAs`s (2) u`Cy hsjE (3) a§ujn (4) PhyujE

86. esjY um∞M YsP~ asXv ]s gx∞G nj®Y Ev p§ ?
(1) gpsnsIj(ngx|]j) ]s asXv (2) `]v ]s asXv
(3) Yksd ]s asXv (4) _jYv ]s asXv

87. uEn G~U um∞M ῭E-AsCxS od] ]v mjY™ EvYv Ot]v p§ ?
(1) YvjA|]sPv (2) gx∞E~dsPv (3) I®kb (4) udkvAjUP

88. uBk§ESÆujE dkd ]v EsW uEn °̀ EvYv ?

(1) \sgn Akms A§Uvn` (2) Ak§EP¶Uj IÆ~psg d§≤k

(3) g§jv uECyjv (4) nv. mv. jg`

89. nkgs` jo]v ỳ} uEp[v uEYsd kBv dx∞Ej axjnEsj ugukAs ?
(1) ]s n§Ssu`E mjunP (2) ugU`suBS uMkUj`
(3) cjv (4) oskvgsj ]s EksCx̀

90. IkY E\` aNsX©*
(1) IxjyYsEjoX ]s aÆesm E~mk _jYv Cx∞Y~ p§*
(2) IxjyYsEjoX k®p~ ỳ} uG∞M]s p§*
(3) IxjyYsEjoX Esj` mnYt Y§j` ]v \t, nu\j jup|]vAt p`*
(4) pmsBv OpsP IxjyYsEjoX G~Yj um∞M `pw Cx∞U]s p§*

91.  ujESj a§gs °̀ Cx∞Y~ __________ Y™ Cx∞aj a[`s esjv ps`v apx|Ms nE]s p§*
(1) 7 (2) 6 (3) 5 (4) 4
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92. Who has won the Sushila Devi Literature Award for the novel "Things to Leave Behind" ?

(1) Kanika Mukherjee (2) Ram Suri

(3) Namita Gokhale (4) Rita Chandra

93. What does white colour in the Indian National Flag represent ?

(1) Sacrifice (2) Peace and Truth

(3) Prosperity of life (4) None of these

94. Which State / Union Territory is Nanda Devi located in ?

(1) Himachal Pradesh (2) Jammu and Kashmir

(3) Uttarakhand (4) Uttar Pradesh

95. Where did Buddha attain enlightenment ?

(1) Lumbini (2) Bodh Gaya (3) Sarnath (4) Kushinagar

96. What do tissues help in ?

(1) Faster development (2) Division of labour among cells

(3) Higher reproductive potential (4) Body strength

97. Which classical dance form is named after the village it originated from ?

(1) Kuchipudi (2) Kathakali (3) Bharatnatyam (4) Mohiniattam

98. Which sweet is deep-fried, dipped in sugar syrup, round shaped and usually orange

in colour ?

(1) Gajar ka halwa (2) Rasgulla (3) Bhakarwadi (4) Jalebi

99. Which part of the Earth supports its biodiversity ?

(1) Biosphere (2) Sanctuary

(3) Ecosystem reserve (4) Biotic community

100. What process is involved in Cloud Seeding, which is a technique that induces rain ?

(1) Adopting an agricultural practice that depends on clouds.

(2) When water vapour in the atmosphere cools and condenses around a particle of dust or

salt.

(3) Making clouds and placing them in the sky.

(4) Scattering clouds to form seed like structures.
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92. ""u\|IP Sy kvm udpsBvU'' `smk kBv nxovks ]~mv nsupY axjnEsj uEn ỳ} ugukAs ?

(1) Eu`Es gxGjOv (2) jsg nyjv (3) `gvYs I®Gk~ (4) jvYs M|]js

93. jsoSjv Q|U~ um∞M nb~] j|I uEn ỳ} ]jnsCxr]s p§ ?

(1) duk]s` (2) otYv AY~ n∞M

(3) Ovm` ]v Gxopskv (4) Cx∞aj u]∞uYAt um∞M™ E®Bv mv `pw

94. }̀]s ]~mv uEp[~ E¢]j osnY jsO um∞M nu\Y p§ ?

(1) upgsMk aÆ]~o (2) O|gy AY~ Eogvj (3) Cx∞YjsG|U (4) Cx∞Yj aÆ]~o

95. gpsYgs dx∞_ ỳ} AsYg uIAs` aÆsaYv uE∞\~ p®Bv ?

(1) kx|ud`v (2) d®_ Ihs (3) nsj`s\ (4) Exov`Ij

96. uSoy uEn um∞M g]] Ej]~ p` ?

(1) Y~Pv `sk umEsn (2) E®uoEsmt um∞M E|g ]~ umesO`

(3) Cx∞M aÆOX` ngj∞\s (4) ojvj ]v gPdyYv

97. osnYjv u Æ̀Y ]v uEp[v o§kv ]s `sg Cxn ua|U ]~ `sg Cx∞Y~ j∞uGAs uIAs uO∞\™ uBp oxjy p®Bv nv  ?

(1) ExMvax[v (2) E∞\Ekv (3) ejY`sSvAg (4) g®up`vA∞Sg

98. uEp[v ugTsBv M|Iv Yjpt Ykv p®Bv, Mso`v `sk ejv p®Bv, AsEsj um∞M I®k AY~ Asg Y¨j Cx∞Y~ n|Yjv j|I
]v px|]v p§ ?

(1) IsOj Es pkms (2) jnIx∞ks (3) dsGjms[v (4) Ok~dv

99. _jYv ]s uEp[s up∞ns uBn]v Ovm-ue|̀ Ys ]s ngj∞\` Ej]s p§ ?

(1) Ovm g|Uk (2) n¶Myjv

(3) uBE®unnSg ujPjm (4) O§umE ngyp

100. EksCxU nvuU|I um∞M uEp[v aÆuEujAs osgk p§, O® uE uB∞E YE`vE p§ uOn]~ Esj` gvp AsCxr]s p§ ?

(1) uB∞E G~Yvds[v AueAsn ỳ} AaXsCxXs O® uE d∞]ks Cx∞Y~ u`jej Ej]s p§*

(2) O]™ asXv mshyg|Uk um∞M msoa dXE~ _y[ ]~ EX Ot `gE ]~ Ask~-]xAsk~ T}Us AY~ n|KXs px|]s p§*

(3) d∞]k dXsCxXs AY~ Cxp`t ỳ} Angs` um∞M apx|MsCxXs*

(4) dvO mjIv jM`s dXsCxX kBv d∞]ks ỳ} b§ksCxXs*
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SECTION – ‘D’ : INTELLIGENCE

101. If 'A' means ' ÷ ', B means '–', C means '×' and 'D' means '+', then find the value of the following

equation.

16 D 64 A 4 B 4 C 3 = ?

(1) 20 (2) 15 (3) 9 (4) 17

102. Which of the following option is an odd one ?

(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

103. There are four buildings in a residential complex A, B, C and D. Each one is of a different

height. D is only shorter than B. A is shorter than D and C. Which one is the shortest of them

all ?

(1) A (2) B (3) C (4) D

104. Which of the following words cannot be formed out of the word 'CONDUCT' ?

(1) Duct (2) Counted (3) Count (4) Donut

105. Fill in the blank with one of the options given below, which is in line with the sequence in the

question.

PUE, QVF, RWG, __________, TYI

(1) SXH (2) TSQ (3) ABN (4) STY

106. Figure  is embedded in one of the four alternatives. Find the alternative which contains

figure  as its part.

(1) a (2) b (3) c (4) d

107. A bus for Delhi leaves every 30 minutes from a bus station. The station master told a passenger

that a bus has already left 10 minutes ago and the next bus will leave at
9:35 am. At what time the station master gave this information to the passenger ?

(1) 9:20 am (2) 9:10 am (3) 9:15 am (4) 9:25 am
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esI - ‘D’ : uB|S§kvO¶n

101. O~Ej 'A' ]s Aj\ ' ÷ ' p§, B ]s Aj\ '–' p§, C ]s Aj\ '×' p§ AY~ 'D' ]s Aj\ '+' Yt p~Tt u]∞Y~ ngvEj`
]s gx∞k aYs Ej®*
16 D 64 A 4 B 4 C 3 = ?

(1) 20 (2) 15 (3) 9 (4) 17

102. p~Tt u]∞uYAt um∞M™ uEp[s uB∞E d~g~k umEka p§ ?
(1) PQRS (2) LMNOP (3) BCDE (4) FGHI

103. uB∞E ujpsuBov E|ak§En um∞M Msj uBgsjYt A, B, C, D p`* pj~E m∞G-m∞G CxMsBv ]v p§* uB∞Ekv D,  B

Y™ N®Sv p§* A, D AY~ C Y™ N®Sv p§* uBp`t um∞M™ uEp[v ne Y™ N®Sv p§ ?
(1) A (2) B (3) C (4) D

104. p~Tt u]∞uYAt um∞M™ uEp[s od] 'CONDUCT' od] Y™ `pw dXsuBAs Os nE]s ?
(1) Duct (2) Counted (3) Count (4) Donut

105. Gskv \t ỳ} p~Tt u]∞uYAt um∞M™ Cxn umEka `sk ej® uOp[s uE aÆo` um∞M u]∞Yv p®Bv ksBv` ]~ YjYvd A x̀nsj
p§*
PUE, QVF, RWG, __________, TYI

(1) SXH (2) TSQ (3) ABN (4) STY

106. uM∞Yj  uEn~ uB∞E umEka um∞M n\suaY EvYs uIAs p§* Cxp umEka aYs Ej® uOn um∞M uM∞Yj 

uBn]~ up∞n~ mO™ osgk p§*

(1) a (2) b (3) c (4) d

107. uB∞E dn, dn nS~o` Y™ pj 30 ug|S um∞M u]∞kv kBv u`Ek]v p§* nS~o` gsnSj °̀ uB∞E hsYjv ỳ} ]∞unAs
uE dn 10 ug|S aupkt pv u`Ek Mx∞Ev p§ AY~ AIkv dn nm~j~ 9:35 mO~ Osm~Iv* nS~o` gsnSj °̀ uBp
OsXEsjv hsYjv ỳ} uEn ng¢ u]∞Yv ?

(1) nm~j~ 9:20 (2) nm~j~ 9:10 (3) nm~j~ 9:15 (4) nm~j~ 9:25
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108. Find out the pair in which the words bear the same relationship to each other as the given one.

Austria : Vienna

(1) Egypt : Cairo (2) Germany : London

(3) USA : Orlando (4) Australia : Sydney

109. In a certain language 'FIGHT' is written as 'TGHFI', then how will 'PAPER' be written in that

code ?

(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR

110. Which sequence of mathematical symbols can replace * in the given equation to balance the

equation ?

7 * 7 * 2 * 1 = 12

(1) × ÷ − (2) + − × (3) ÷ + − (4) × − ×

111. 37 boys are standing in a row. Aakash is 14th from the right end. If he is shifted six places to

the left, what is his position from the left end ?

(1) 20 (2) 18 (3) 11 (4) 14

112. Which of the following diagrams best depicts the relationship between Table, Chair,

Furniture ?

(1) A (2) B (3) C (4) D

113. Choose the correct alternative.

Smoke : Pollution :: War :    ?  

(1) Peace (2) Victory (3) Treaty (4) Destruction

114. If GRAIN is related to WAREHOUSE, then Water is related to ______.

(1) Estuary (2) River (3) Canal (4) Dam
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108. Cxp O®[s aYs Ej® uOn um∞M od]s ]s uB∞E-]yO~ `sk AuOps ngs` n|d|_ u]GsBv u]|]s p§ uOm¢ uE p~Tt u]∞Y~
um∞M ]jnsuBAs uIAs p§*

    AsnSjvAs : umAs`s

(1) uBuOaS : E§j® (2) Ojg`v : k|]`

(3) hy.A§n.B~ : Djk¶U® (4) AsnSÆ~kvAs : unU`v

109. uB∞E umo~o esos um∞M 'FIGHT' `y} 'TGHFI', ]~ Y¨j Cx∞Y~ ukuGAs Ot]s p§, Cxn~ E®U um∞M 'PAPER' `y} uEm¢
ukuGAs Osm~Is ?

(1) RPEPA (2) REPPA (3) PEARP (4) PAEPR

110. ngvEj` ỳ} ngYx∞k dXsCxX kBv u]∞Y~ p®B~ ngvEj` um∞M IuXYE uM|̀ pt ]v uEp[v YjYvd * ]v \t Cx∞Y~
As nE]v p§ ?
7 * 7 * 2 * 1 = 12

(1) × ÷ − (2) + − × (3) ÷ + − (4) × − ×

111. 37 k[E~ uB∞E EYsj um∞M G[~ p`* AEso G∞d~ unj~ Y™ 14m¢ n\s` Cx∞Y~ p§* O~Ej Cxn ỳ} G∞d~ asn~ m∞k N~
n\s` A∞I~ e~uOAs Ot]s p§ Yt G∞d~ unj~ Y™ Cxn]s n\s` Ev p§ ?

(1) 20 (2) 18 (3) 11 (4) 14

112. p~Tt u]∞Y~ uM∞Yjt um∞M™ uEp[s g~P, Exjnv AY~ bj`vMj um∞M ne Y™ m_vAt n|d|_ ỳ} ]jnsCxr]s p§ ?

(1) A (2) B (3) C (4) D

113. npv umEka MxX©*

_y|As :  aÆ]yoX : : hx∞_ :    ?  .

(1) otYv (2) uO∞Y (3) n|_v (4) um`so

114. O~Ej A`sO ]s n|d|_ Ix]sg `sk p§ Yt asXv uEn `sk n|d|u_Y p§ ?

(1) gxps`s (2) `]v (3) `upj (4) U§g



30 / GRAMA / PUN+ENG

115. Which character when placed at the sign of interrogation (?) shall complete the given

pattern ?

(1) DW (2) DK (3) DE (4) DL

116. What comes in the place of question mark (?) in the following number series?

4, 12, 36, 108, 324, ?

(1) 520 (2) 475 (3) 680 (4) 972

117. Find the missing figures from the given alternatives.

(1) 28 (2) 21 (3) 11 (4) 38

118. Surbhi is facing East. She turns 90° in the clockwise direction and moved 2 kilometers, then

she turns 145° in clockwise direction and moved 1 kilometer. Which direction is she facing

now ?

(1) North (2) East (3) North-West (4) South-East

119. Two positions of dice are shown below. Identify the number at the bottom when the top is

'5' ?

(1) 3 (2) 2 (3) 6 (4) 4

120. Replace the question mark (?) in the given series.

mm, OO, qq, SS,  ?   

(1) uu (2) Ss (3) UU (4) rr
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115.  uEp[~ A∞Gjt ỳ} aÆo` uM|̀ p (?) ]v \t Cx∞Y~ kIsCxX `sk u]∞Ys p®uBAs a§Sj` ayjs p® Osm~Is ?

(1) DW (2) DK (3) DE (4) DL

116. p~Tt u]∞Yv n|uGAs k[v um∞M aÆo` uM|̀ p ]~ n\s` Cx∞Y~ (?) Ev Asm~Is ?
4, 12, 36, 108, 324,   ?  .

(1) 520 (2) 475 (3) 680 (4) 972

117. u]∞Y~ umEkat Y™ kxaY n|uGAs aYs Ej®*

(1) 28 (2) 21 (3) 11 (4) 38

118. nxjev ]s gy|p ayjd m∞k p§* Cxp K[v ]v nyBv ]v u]os um∞M 90° Kx|g]v p§ AY~ 2 uEk®gvSj M∞k]v p§, b~j
Cxp K[v ]v nyBv ]v u]os um∞M 145° Kx|g]v p§ AY~ 1 uEk®gvSj M∞k]v p§* pxX Cxn]s gy|p uEn u]os um∞M
p§ ?

(1) Cx∞Yj (2) ayjd (3) Cx∞Yj-a∞Ng (4) ]∞GX-ayjd

119. p~Tt uB∞E asn~ ]vAt ]® nu\YvAt ]jnsBvAt IBvAt p`* O]™ asn~ ]v unGjkv n|uGAs '5' px|]v p§ Yt Cxn
ng¢ asn~ ]v p~Tkv n|uGAs aYs Ej® ?

(1) 3 (2) 2 (3) 6 (4) 4

120. u]∞Yv p®Bv k[v um∞M aÆo` uM|̀ p (?) kBv npv umEka MxX©*
mm, OO, qq, SS,   ?  .

(1) uu (2) Ss (3) UU (4) rr
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121. Which figure among the four alternatives a, b, c, d would replace the question mark in figure

'4' ?

(1) a (2) b (3) c (4) d

122. Choose the correct alternative from the options for the Assertion (A) and Reason (R)

given below.

Assertion (A) : In India, people elect their own representatives.

Reason (R) : India is a democratic country.

(1) ‘A’ is true but ‘R’ is false (2) ‘A’ is false but ‘R’ is true

(3) Both ‘A’ and ‘R’ are true (4) Both ‘A’ and ‘R’ are false

123. If in a certain language 'PARROT' is written as '123345' and 'SOAT' is written as '6425', then

how would 'ROAST' be written in that code ?

(1) 34625 (2) 32564 (3) 32456 (4) 34265

124. R is K's sister. P is K's brother. Q is T's father who is P's brother. H is K's mother.

At least how many sons do Q and H have ?

(1) 3 (2) 2 (3) 1 (4) 4

125. If 35 out of 70 people are diabetic, which figure will depict the diabetic group ?

(1) a (2) b (3) c (4) d

- o O o -
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121. uM∞Yj '4' um∞M p~Tt u]∞Y~ Msj umEkat a, b, c, d um∞M™ uEp[s aÆo` uM|̀ p ]v \t Cx∞Y~ Asm~Is ?

(1) a (2) b (3) c (4) d

122. p~Tt u]∞Y~ p®B~ umEkat Y™ YjE (A) AY~ (R) Esj` kBv npv umEka MxX©*

YjE (A) : esjY um∞M, k®E AsaX° aÆuYu`_vAt ỳ} Gx] MxX]~ p`*

Esj` (R) : esjY uB∞E k®EY|Yjv ]~o p§*

(1) ‘A’ npv p§ aj ‘R’ IkY p§ (2) ‘A’ IkY p§ aj ‘R’ npv p§

(3) ‘A’ AY~ ‘R’ ]®m¢ npv p` (4) ‘A’ AY~ ‘R’ ]®m¢ IkY p`

123. uEn~ umo~o esos um∞M 'PARROT' `y} '123345' mO™ ukuGAs Ot]s p§ AY~ 'SOAT' `y} '6425' mO™ ukuGAs
Ot]s p§ Yt 'ROAST' ỳ} Cxn E®U um∞M uEm¢ ukuGAs Ot]s p§ ?

(1) 34625 (2) 32564 (3) 32456 (4) 34265

124. R, K ]v e§X p§* P, K ]s ejs p§* Q, T ]s uaYs p§ O® uE P ]s ejs p§* H, K ]v gt p§* Q AY~ H ]~  uE|̀ °
ax∞Yj p` ?

(1) 3 (2) 2 (3) 1 (4) 4

125. O~Ej 70 umAEYvAt um∞M™ 35 UsuBAsduSE p` Yt uEp[s uM∞Yj ngyp ỳ} ]jnsm~Is ?

(1) a (2) b (3) c (4) d

- o O o -
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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7. u`hxEYv ng¢, O]™ Yxps ỳ} u`jvGE ]xAsjs axnuYEs ỳ} G®kX ]v nyM`s u]∞Yv Ot]v p§, Cx]™ uBn ỳ} G®k® AY~ OtM Ej® uE uBp YxpsU~ AjPv

bsjg um∞M AY~ YxpsU~ aÆm~o a∞Yj Cx∞Y~ A|uEY YxpsU~ ]xAsjs MxXv IBv esos um∞M umesI "A" p§* O~Ej `pw p§ Yt Yxj|Y u`jvGE

ỳ} uBn]~ dsj~ nyuMY Ej®*
At the appointed time, when you are instructed to open the booklet by the Invigilator, open it and check
whether it contains Section “A” in the language opted by you in your Application Form and indicated on
your Admit Card. If not, bring it to the notice of the Invigilator immediately.

8. uBguYps` um∞M uEn~ aÆo` ]~ A x̀ms] / u`jgsX um∞M E®Bv AnaoSYs ]~ gsgk~ um∞M, uBn]s A|Ij~Pv jxatYj (esos esI ]~ aÆo`t

ỳ} N∞U E~) A|Yg g|u`As Osm~Is*
In case of any ambiguity in translation/construction of a question, in the version of the specified
language/s, its English version (except for the language section questions) shall be treated as final.

9. aÆo` a∞Yj axnuYEs 36 a|u`At ]v p§*  uEjas EjE~ OtM Ej® AY~ uBp nxu`ouMY Ej® uE aÆo` a∞Yj axnuYEs ayjs p§ AY~ nsj~ a|̀ ° p`*
The question paper booklet is of 36 pages. Please check and ensure that the Question Paper Booklet is
complete and contains all the pages.

10. nsj~ aÆo`t ]~ Cx∞Yj OMR Cx∞Yj ovS um∞M pv u]D*
Answer all questions in the OMR Answer Sheet only.

11. OMR ovS uBn aÆo` a∞Yj axnuYEs ]~ A|]j p§*  O]™ Yxps ỳ} u`j]~o u]∞Ys Ot]s p§ aÆo` a~aj axnuYEs G®k≠®, OMR Cx∞Yj ovS

E∞U®, AY~ m~jm~ u_As` `sk unjb `vk~ / Esk~ dsk asuB|S a§̀  `sk ej®*
The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed to open the
Question Paper Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with Blue/
Black ball point pen only.

12. uB∞E aÆo` kBv unjb uB∞E M∞Ej Ej®*  O~ Yxnw uB∞E Y™ m∞_ ]suBj~ ỳ} Esks Ej]~ p®, Yt YxpsU~ Omsd ỳ} IkY g|u`As Osm~Is*
Darken only one circle as your answer for each question. If you darken more than one circle for the same
question, your answer will be treated as invalid.

13. IkY Omsd kBv E®Bv `EsjsYgE A|E `pw p§*
There is no negative marking for a wrong answer.

14. OMR ovS Y~ d~k®[s u`os` `s dXsD Ot b®kU `s Ej™ Ot uBn ỳ} umIs[` ]v E®uoo ` Ej®*  O~ AuOps Ej]~ p®, Yt YxpsUv

Cx∞Yj ovS ]s gxktEX `pw EvYs Osm~Is*
Do not make unnecessary marks on the OMR answer sheet or fold or attempt to deface it. If you do so,
your answer sheet will not be evaluated.

15. unjb uBn a|̀ ° Y~ m~jm~ ukGX AY~ ukGX kBv `vk~ / Esk~ dsk asuB|S a§̀  ]v mjY™ Ej®*  a§̀ unk ]v mjY™ `s Ej®*
Use Blue/Black ball point pen only for writing particulars on this page and for writing answers. Do not use pencil.

16. g®Ss E|g aÆo` a∞Yj axnuYEs um∞M u]∞Y~ IB~ u`j_sujY n\s` Y~ pv EjXs p§, `suE OMR ovS Y~*
Rough work is to be done in the space provided for this purpose in the Question Paper Booklet only and
not on the OMR sheet.

17. S§nS ]~ ayjs p®X Y~, Egjs / psk N∞UX Y™ aupkt OMR ovS ỳ} u`jvHE ]~ pmsk~ Ej®*
On completion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the Room/
Hall.

18. Yxps ỳ} uBn aÆo` a∞Yj axnuYEs ỳ} AsaX° `sk k§ OsX ]v ajms`Iv p§*
You are allowed to take away this Question Paper Booklet with you.

19. uBn axnuYEs kBv E®U (CODE) G p§* uBp nxu`ouMY Ej® uE OMR ovS ]~ Nsav IBv E®U Cxpv p§ O® uBn aÆo` a∞Yj axnuYEs

Y~ p§*  gYe~] p®X ]v nu\Yv um∞M aÆo` a∞Yj AY~ Cx∞Yj axnuYEs ]®mt ỳ} d]kX kBv Yxj|Y u`jvHE ỳ} nxuMY Ej®*

The CODE for this Booklet is G. Make sure that the CODE printed on the OMR Answer Sheet is the

same as that on this Question Paper Booklet. In case of discrepancy, report the matter immediately to the
Invigilator for replacement of both the Question Paper Booklet and the Answer Sheet.

20. aÆo` a∞Yj / OMR ovS um∞M u`j_sjY OI≠s ỳ} N∞U E~ AsaXs j®k }̀dj uEY~ mv `s ukG®*
Do not write your Roll No. anywhere else except in the specified space in the Question Paper
Booklet / OMR Answer Sheet.

21. OMR ovS Y~ uEY~ mv uM∞S~ Yjk ]v mjY™ `s Ej™ *
Do not use white fluid for carrying out any correction on the OMR Answer Sheet.


